SF 34 2H

A A A F AR A JbiEE S

W BT



T kA HE b3
1. L= BB EE  KE SRR T
2. B4 SR =L
3. T () dkifiE B osgey  FE R (KP 190. 1
(FE) dbvgE  GreEEm Ry kRET (KP 133.5
(B)
=)
(B)
€D
(H)
=)
(5
(&)
4. i TNE
R C#&N.CT. 554 m
T BT TR T 9 m
IR BB ST T T 95 o
KRB RS T 24 fEAT
s T 2 fEAT
KT oy faAE T 76 fHAT
RRZS ) oA 8 T 4 AT
5. # H 4f 3% 5H 13H = S 68 2/ 26H (1020H[)



T # 4 EREBEE K G SR TE
HL|
H H fr | & #H oA N ER
27 Y — MEEY T A1 51, 051, 855
EN Y x| 1 17,406,126 |27 U — |k 554 il
Al—5 554 i
o< T x| 1 16, 300, 320 |[FlpH< 2, 320 m
TH 2, 320 ot
T A1 17,345, 409 |87 97 t
T 97 t
SRR E L EVN 9, 750, 070
SRR S O BAE EV 4,164, 778 |BUEREIE (BRHD) 6 t
A 3 t 3 t
/NI RS O A 188 &
188 1
RS O Bi8E EV 578,987 |G O@EE 60 m
DAt 60 el
it Ok E 37,056 | S OiRS 6 .
6 t
PRSI DR EV 4,969, 249 |@® IRV N ARKE L 0.32 t
0. 32 t
G O BIG TR L 17 m
17 m
WiEm AL EV 87, 111, 403
TERGERS 1L T EV 75,091, 303 | #auHFANE T B _m’ 16 il
av s Y—h 16 il
A T B _nf 59 ot
A< 59 nt
RIRILIE LB _ t 2 t
E28:11) 2 t
faumamE T B _A 264 i
Toh—1L 264 VN
TEAERS LA 1S 24 ZN
P 24 VN
TR Aif R EV 10,359,432 |27 U — hERmEALH 2,278 ot
2,278 ot
R S MHEER ST C R Hi LR 95 ot
95 ot
SRIFEMEHEE LT L 95 ot
95 ot
RS ST TR AL T 95 ot
A 95 ot
1L EIEX R T EV 877,396 |A 17 i
17 ot
B 54 ot
54 ot




% e Ijﬂ E % P7 2 =
T # 4 EREBEE K G SR TE
HL|
H H fr | & i MR N R
FKERiEL A1 783,272 |ar 7V — NRiEHE T 142 nt
142 i
MET A1 672, 714, 273
Z D1 P L A1 651,371,073 |A 8 It
B 8 H
C 4 H
D 4 H
E 4 H
F 4 H
G 4 H
H 4 H
I 4 H
J 2 H
K 4 H
L 2 H
M 2 H
N 2 H
e} 4 H
P 8 H
Q 8 H
a7 U—Fh 4 i
< 16 ot
KNI 0.83 t
7oH—T (¢=42mm. L=49 Omm) 108 P
T Z oy N 0. 52 t
7o H—T (¢=48mm,. L=6 3 O0mm) 18 i
9 il
1 =
A T EV 660,000 |#&/EHIH L XN 5 =]
5 ]
BT E EV 20, 683,200 |z EEE 10 A H
10 AN+H
BT EEfHRA 38 A+ H
38 A+ H
Ak E A B 1, 439 A-H
1,439 A+ H
AR THE & EV 820, 627, 601
IR Ty A |1 93, 339, 235
Z DAth, = (1 3,583,700 |HWVE AT 1 =
JEMEE R A R A 1 =
FEME A R B 1 =




\ T % 4 D&k {BhEE ) SR T
HL|
H H fr | & & il I N
I F5fi T2 X |1 88,711,535 | L% 1 =
KT 1 =X
R 1 =X
MET EVN 1,044,000 |ZF O TH# 1 =
HETHE F EVIE 913, 966, 836
IE (R A |1 101, 876, 779
G & =x |1 1,201,779 |BGaEET A 1 ES
TR A R 1 =
e Ry A |1 100, 675, 000
BGE R =X |1 301, 769, 500
ML HEE § A |1 403, 646, 279
L5 K |1 1,317,613, 115
—RE R E K |1 124, 636, 885
T EVN 1, 442, 300, 000




